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Basic Skills to Review for Math 10 Foundations and Pre-Calculus Final Exam
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From Chapter 2

1) Solve for x.

(Pythagorean Theorem) $<2 4,{07— = \L{L
2
2%+ 0= W2 +1g6 = 10e
X dd + oo =X
12

14
Jowk = J A0
. (S6 = x

v = a¢g
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10 10
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2) Solve for x. (Using Sin, Cos, Tan Ratios)
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From Chapter 3

1)

Multiply.
a) (x+4)(>\</+2;/) = w? 4 bx HUx Fod = X 4+ (0% A
S -
X N\
b) (2x—3)x+E) = QxZ +10x -3x —\< =
\__/___’_//

AU T -

o) (@3) = X2 40%x* -3

= Yo+ X~

e 15T (\F Possipie
Factor. A{—@Mm%‘?‘/ §¢ = »

-6 = o . 3(x-2)
a)éXCFGS'—% /%/:5)‘( =
bs = —sx 0 = 25 (%72)
é}CP;-—g —< —<
c)ﬁz—loo = ( Y—\—\OB (%—(O\
TIFF.0fF SQ .

Waefs = (o L) (o 1)

DIFE. 0F €& .
e) X +8x+12 — (X‘FEB (X"'?/B

f) y"-3y-18 = (XFBB (><+5>

A

g) 6x*+13x-5 < X -2 N 4+ (33<f(
'Bt'_compo%\"hm\\ 12 c;y (gx B -gw
: = (zx-DH(o%"

h) 3x*-27

@bCF“—% _ B(Y?”—C\\

D%, = 2(x+Dx-3)

= ;XZ 4+ I — (S

. (@41 ,Z%IQX ~§>
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From Chapter 4

>
V@\Is.

1) Simplify the followi

el a/J_"

2) Rewrite as an entire radical 8z = A3
diz
2[ 1) z

r
e

\\

w

3) Evaluate (without using a calculator).
,(6 \ !
«C [1) =
8
\
@ o®

3 1
3 4
42:<4F>’ 31(’\) > Zq ~16):
v
N \‘?@D 0
4) Express each radical as a power.
) Simplify the following. Write all powers with positive exponents.

= b
\A N
sL
J("Pg 5’
X beef Arse &emn N- LeeP phsE, ADD

x2y3 WPO“GWS 2 3Yoa 1) EXPoNENTS x’ h
s ey Nty ™) =
v —2 44 3 + 1) *
_ 27l 3¢ = X Y
N \/ _ XL \/?_
(I
= Y \/ o l
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(m i PossialE

b O annoT /K)———A'
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From Chapter 5

1) Write the Domain and Range for each of these relations.
a) {0,3) (1L4) 2,5))
Domain:?ol‘\zz Range:{3»4|5§

7

b)

Domain: -2 £ Y S 4~

Range: O g‘z}} \< A

2) Isthe relation a function (yes or no)?

o

: N, Does Wet PAsS VEEnch LINE TERT
401 B b A]- y 15 _\F'\'{' Y—VF\/LUF OF & 18 Used moec
‘ THrN ONCE | (2,4 ¢ (z 7\

3) Is the function a linear relation (yes or no)?
~10 ~10 — (0

3y
a) {(o, 3(@@0) 3,0) YES  CONSTRNT BATE OF CHANGES (YV\: —BX
AN | i

+\ o+ + |
SRS S SV

b) (L 1) 2,3 (3,4) 4,7 5,11y NO | BATE oF CHANGE (S NoT CONSTANT
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4) What is the rate of change for each linear relation below?
e Q

= = - +10 =
a) {(2,16) (4,20) (6, 30) Crre oF Glbauce (m) = 2is€ = 112 =S
7 eon T2
+2 47
Oy
) | o
A\ /%
al\ P aTE OF C/%n«\eqe‘[ms = — > = -3
> +
10/ 8|6 |-4]-R ‘_\ 4 | ¢ 1(;( C lsh_l__
2 \
¢ (D6 oPe

O | @

5) If the function is f(x) = 2x + 4, find f(3).
= +
LY=o+ hen - 5
= Ly ﬁtmoa&:lo

= 1O



From Chapter 6

1) Whatis the slope of the liney = 2x + 3? 51,0}35‘ (m} =
\/:VY\y-\— [

2) What is the slope of the following graph?

v, doewn
_ -~
%wPe’(m\ = BAsT = £
\ ron + 2z
\ > &r(%k‘("

e
PRI

YoN, Y Ve
3) What is the slope of the line that passes through the points (3, 6) and (-1, 4)?
"\ = \I’L_\/' (!@AQG\ ~ L-\—-Jo _ —2 :_‘_"—
R . e 2
X — X, (eon) —\ -3 4

yAk
4) Graphtheline 2X+y=-3.
AN —¥
\{ = X~ 2>
J'— k\o X
<Slope (\/““’ v (ot >
down 2

4

5) Identify the slope and the coordinates of a point on the line of the equation

y+5=-2x-4). B __nQ(y —X\B
<lope_ © k \ i
wen) | e

\P (4, -¢)



Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight

Highlight


6) Write an equation in the form y —y; = m(x — x4)

(slope/point form) for the graph of a linear
function that passes through the points (1, 4) and (3, 7).
CD m= \/’L\\/l

@ YN Y Ve
V=Y.o=

= (N-y, ) ,
X2 =¥, \/\L.\ =3 (X—\\ 0&
-4 - :

N — 7 :%(X~%B
> - z

7) Write the equation of the line in the form y = mx + b (slope/intercept form) that has a y-
intercept of/Sand i

S s perpendicular to the line with an equationy =£x +3.
C LW S o) M = ,2_
=g M| = — (NgaAﬂVF
Y:N\VFFIQ - 2 RET | Prochit
V=l xS
Z

8) Rewrite the equation 3x4 2y — 6 = 0 into the formy = mx + b (slope/intercept form).
we — AX - 3%
wﬂww




)

1) Is the point{(2,3) a solution to the system below? (Why or why not?)

—2y=0 —> 3(zy— 2(z) = O

x=y—-1 b — L = O \{E—S] P(Q \%5 o oe <
C 2 =2 -] I®) =0 Vv =Y oY FhuaTioN S

i

2) Solve the following system using the Graphic Method. \ yT
w? |
— -§1n,ur101\/
y=2X+2 — N = a/ =2z |
X+y=5 N\
/ N

O
|

w L
T
/|
/"

A

Solution is ([ f L’[\

3) Solve the following system using the Substitution Method.

2x+3y =11 QQXP@‘S=H @V:‘QX“‘!

=2x+1 =
y=2x+1] AY + by +3 = y:Q[{\-{—/

& W 7/)=”
/ —% >
7 g - 3
Y -
K 7% 4

§= o

Solution is L_Lg\
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4) Solve the following system using the Elimination Method.

(2H§[;5 T — X(AQy—%y('% ”?&é)
@"3 + Ay = 2

YW”Z?")
Uy "~ 22
*;_,z

|
W
D%

i

|
~J

5) How many solutions (none, infinite, one) does the system have?

v=2x B Paener Livet

a) y=2x#3 m = Same }
e WiLL ~vever CRoSS

b = D FreveENT

ISR

© NO 5/0107’70:\//55

b) -2x+y=4 ——> ~— 2D +y Y
—2y+-8 X + X

= D x &if MZSQME‘}S/)MME‘
= —y-§ 7 brEmsAame A E
i L/ e INFINITE
= QY—I—

Svrvrions S
6) Word Proﬁem: Write the linear system that would help you solve the problem. (Be sure to

identify your variables with LET statements.) You do not need to solve the problem.
P=28 +3w

a) The perimeter of a rectangle is 15(_) cm. If the/length iswice the width, find the length
and width of the rectangle.

KET = winTr W +RL =
_1,1'1/57\/6777-# VQ :91/\)

b) The cost of 2 adult tickets and 3 child tickets is $35.00. The cost of 4 adult tickets and 1
child ticket is $45.00. What is the price for the adult and the child tickets?

JeT A= CosT 0F ABULT TICLETS DB +3C =35
O = CosT ofF CHiLy TICKETS Y4B + 1C = 4T
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Formulas for Math 10 Final Exam

Two Point Slope Formula: m = Yi7Ys

X1 =X,
Slope-Intercept Formula: y=mx+b
Slope-Point Formula: Yy —vyi=m(x—xq)
General Form: Ax+By+C=0

a’+b’=c® OR a’=c’-b?

side opposite the angle

SIN of an angle =
hypotenuse
COS of an angle = side adjacent the angle OR S O H C AH TOA
hypotenuse
TAN of an angle = side opposite the angle

side adjacent the angle



